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8 |ZWE 3.0E+1 30.0 3.4E+2 335.2 365.2
9 [WHARE

10 |HBER

1 [BEE 1.3E+1 13.0 2.9E+2 290.0 303.0
12 |FER 1.0E-1 0.1 0.1
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20 |RHE

21 |IFBE

22 |EEEIR

23 |BHE 2.9E+1 29.0 29.0
24 |=ZER 2.0E-1 0.2 1.5E+1 15.0 15.2
25 |HER 2.8E+0 2.8 2.8E+0| 1.4E+2 1428 145.6
26 |FARRT

27 | KBRAF 2.4E+2 236.6 9.0E-1| 2.3E+2 226.8 463.4
28 |EER 3.0E+1 30.2 30.2
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30 |FOERILE 4,0E-1 0.4 0.4
31 |BHRE

32 |BRE

33 |FWE

34 |[LER 1.4E+1 14.0 14.0
35 |lLAOg 55E+2 550.0 2.2E+3 2,200.0 2,750.0
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45 |FIFER 1.9E+3| 7.9E+2 2,690.0 2,690.0
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£ E 28E+3| 7.9E+2 3,565.6 3.7E+0| 3.2E+3 3,2405 6,806.1
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